a, b, 9 gro] th-Z3t Zo] Fold wf, ax bx ¢ O] - HI=A A9t

a— AF 36
b — 3 9] %ol AlF

c— /(32 9 & AF2

@-15 @ 18 ® -18V3
@ 183 ® 108

&8

a= (AEZ36) = V36=6

b= 39 Y AFE) = V3

c=( V-3 A EAAFD) = 3 A=A AFDL) = -3
Laxbxce=6x V3x(=V3)=-18




2. V8 Zavh O EE YEH?

@1vi @5V @6V @9v2 G 1242

VI8 = VAx4x3 =43




3. AFTEAA V2 = 1414, V20 = 4472 & w), 0.002 9 g

“FobHA?
D 44.72 @ 0.1414 @ 0.4472
@0.04472 ® 0.01414
2 2 4.472
10.002 = 0__ v20 _ddr 0.04472
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4. x7H11 O ABE W, x 9 11 9] PANL vk Lebd 2L

D 11 = +x @ 112 =x @x2:11
@ 11 = ++x ® x= V11

x = AFAA 11 o] Hl= o] 2 x2 =11 o]t}

x=+V11




5.

V3

@4 @ 5 ® 6 @ 7 ® 8
B

a® = (-V3)* =3: f

(-a? = {-(-¥3)} =3 fels

@ = (-V3)’ = -3v3: Rals

(ma)® = (V3)* =3V3: Fel&
V3a= V3x (-V3)=-3: 2%
V3+a=V3+(-V3)=0: f¢

a __\/g__ - ool
BB 1: f95

V8-a= V8- (-V3) =23 : R4
3a=3x(-V3)=-3V3: 75




6.  V6x VA0 + V96 x V150 = 5+a € W, a S T35}t

> &

> HE: a=15

B

= = \/6x40><%x150
= V5x5x5x3=5v15
a=15




V3
@ 1 @ 2 ()3 @ 4 ® 5
S5
2v3-9 (2v3-9) x V3
‘/4_8+ \/§ —4\/§+W
6-9V3

=4V3+
=4V3+2-3V3=2+13

webA, 1< V3<20]11 3 <2+ V3 <4 0]|B& I3l HpH

£2 3 olrh




1 1
=——--%x04-12
2 4

=-05-01-12=-138
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10. V50 a=bet & 1), b7k 45T} S Sh A L 494 4
SEL EPCE PRYBE I

@ 11 @ 12 @13 @ 14 ® 15

B ~
59 Bt 2 AlF4= 64,81,100,--- 0|22

59 4+ a = 64,81,100 - - -

La=5,2241,.--

wrepA] 7Y 22 A4 a =5, b= V59 + 5 = 8°|T}.
La+b=5+8=13




